AN 2AZAU
g

=2 BAYSMHIA HMS(BA/EH2AR)

E©e: 22og ugt 2F (et9: 8 8)
r SH-BH-BR(S) - HEAY - BES | ol S HDS2
2AF Y 57,764,996 44,759,183 13,005,813
= 5,290, 165
o] 40,504,960
= 11,969,871
=2 SAUASHHA MB(EAH/EHAE) 57,644,809 44,642,842 13,001,967
= 5,290,165
Il 40,464,155
& 11,890,489
29z oZgt 2F 3,777,828 9,418,238 25,640,410
= 2,492,121
2l 60,000
S 1,225,707
2A3Y g8 & F2 24,000 24,000 0
201 ¢Er2 gl 13,000 13,000 0
01 At222l bl 13,000 13,000 0
OEAEH 35 ¥ 2R 4,500
O2AIH2dA RS 29 & =H 4,000
O2HAY & HIHH = 4,500
202 o4 Hl 11,000 11,000 0
01 U0l 11,000 11,000 0
o=2AHFH PRFA 11,000
220/ 2oz 24 26,000 26,000 0
201 ZEt2 3| 26,000 26,000 0
01 Ab2 22| H| 26,000 26,000 0
OZBEEHYA HRUF 26,000
sOHEEAA S 0|HAUE(21) 3,103,908 7,465,913 24,362,005
' =2 2,483,121
T 620,787
403 X+ EHRIS K20l & 3,103,908 7,465,913 24,362,005
= 2,483,121
=S 620,787
01 TtXIEHHI Rt 2 = 3,103,908 7,465,913 24,362,005
OSO0EE2A S 0IHAFAY 3,103,908
= 2,483,121
= 620,787
2012 AFAHBAC AY 391,120 358,320 32,800
201 ¢ Er2Y| 122,000 120,000 2,000
01 At 22| H| 2,000 0 2,000
O3 AAULACIANLE FA2AL X2 2,000
02 E323H| 120,000 120,000 0
oAALACIANLE FX2E] 120,000
307 212t01 & 180,000 180,000 0
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2N EAFA
M H=2 BAYSMHIA HS(BA/2

Hog)

el EW.—IE °|HEP o5 (ehel &= R)
1$H ¥t C*H(EL’FII) /sil Ag - wgﬂ o & o8 G HRE2
05 H?J-?—IE.*'E.‘ 180,000 180,000 0
OsSEdZacdH 2 180,000
308 XXX SO0l & 69,120 58,320 10,800
01 AXEHBLEXS 69,120 58,320 10,800
oRzae NEAM = 69,120
405 XHoHH SH 20,000 0 20,000
01 AatL 2EH S 20,000 0 20,000
OCRAAULBUCIANAE WA AECIX &X 20,000
BAEA oAz 69,000 58,880 10,120
308 AHXIEHI S 01 & 69,000 58,880 10,120
01 AXESHHBLEES 69,000 58,880 10, 120
OBATEA oldaae] 69,000
BAXAL 29 435 79,800 72,000 7,800
201 L Br2AH| 9,600 9,600 0
01 At 22|l 9,600 9,600 0
ottgz gz EAXNA NKEZINY 2Y 9,600
308 AHXIEHXI SO0l A 70,200 62,400 7,800
Ol AXEHHMBAEXS 70,200 62,400 7,800
ottdz g BHXA 2 70,200
AN JHE Al - ZH &#5(=3D2) 75,000 1,413,125 21,338,125
2 60,000
= 15,000
403 XXM SX20138 75,000 1,413,125 21,338,125
J| 60,000
£ 15,000
o1 IXSHHMA2EE 75,000 1,413,125 21,338,125
OCAZMEXREH HESAY 75,000
J| 60,000
= 15,000
EHISI|Z ICTEE A (ZD) 9,000 0 9,000
= 9,000
308 MtXIEHHSOIA 9,000 0 9,000
= 9,000
01 XXt MB&EE 9,000 0 9,000
osdizsA A A 2HI 9,000
= 9,000
28 oy ¥ 2e 15,919,905 15,118,391 801,514
= 346,820
p) 11,192,290
== 4,380,795
THoH < ol g2kl 77,600 77,600 0
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A BAFH

HH: Hx2 EHIYSAHUIA HB(BH/BHYR)
e 2y g 2 22l

F-i, -

SN-EY.S(B) - MSAY - BES

ass

7,600

202 01 H| 7,600
01 2Ljo1 7,600 7,600 0
oY ¥ LY HTAY =X 7,600
206 M 2 bl 70,000 70,000 0
01 X2l 70,000 70,000 0
omdtLeiorE 2 70,000
28 NS SRAY X8 34,400 43,000 8,600
308 XtXISHAI SO0l & 34,400 43,000 8,600
01 XS HBARES 34,400 43,000 8,600
oY HHDI| UX X 34,400
r2t2lof EIXIA (2 2) 58,000 78,000 20,000
= 58,000
308 Xt XI SH¥I S 01 & 58,000 78,000 20,000
= 58,000
01 HXISHBABES 58,000 78,000 20,000
oetzlot EIXIAY 58,000
= 58,000
Sty WD 2 Zojoly =& 302,000 299,600 2,400
307 212+0| 302,000 299,600 2,400
02 BI2HAAAR B E 12,000 9,600 2,400
OBMEAT FEAMT 12,000
05 BI2tSIEra 290,000 290,000 0
oBtdY oY ¥ X2 290,000
SHUIDIO| Y2 FLUS YR & THIHEHA 1 4 I HI K| R ( %, 194 91,478 4,716
=22)
= 48,097
= 48,097
308 RtXISHHI SO & %, 194 91,478 4,716
2 48,097
= 48,097
01 HXISHBARES %, 194 91,478 4,716
OTIbEH IOl M bl %, 194
= 48,097
g 48,097
MOI= CIYDSE L RN 29 63,000 63,000 0
307 Q12+0| ® 63,000 63,000 0
02 Bl P AAH B E 63,000 63,000 0
OUOIZ LSS X 20l g 63,000
Wolx 2 oY NRMEE(ZD)(RP) 148,598 136,598 12,000
b 74,299
< 74,299




SN BARBY
HH: Neo HABAHA HB(2A/2AT)
q_,.| 2toie oy o &g

e o T S B
*‘T‘-kl 3 c+$|(§uu) kll'=‘)\}§ ﬁég ) S
301 °'U*EM:‘ 148,598 136,598 12,000
Il 74,299
T 74,299
01 A EEE 0= 148,598 136,598 12,000
OHIv2gel NZH| 148,598
J| 74,299
S 74,299
olol= & dgoleg IXMEZ(S1) 36,300 36,700 2400
2l 36,300
308 XXX S0l ™ 36,300 36,700 2400
2 36,300
01 TUXEHBLSEES 36,300 36,700 2400
OuloI= & 80 XIJ 36,300
Il 36,300
Z0g & EXIAE 353,107 280,751 72,356
307 212101 A 190,000 181,000 9,000
05 QIZtRIE = 190,000 181,000 9,000
oZduY X WEsE 45,000
oZsdaciAg XA 136,000
ORAs AR ALY 2 9,000
308 XM SOIA 98,107 99,751 A1,644
O AXSHHBLEEES 98,107 99,751 A1,644
OFANE 28 - SEIIZE OS2 32,200
OSt WL Z#HAFE ZRJ|gAH HE 52,431
oZ#EI Mg & XY 13,476
402 Q12tXH=01H 65,000 0 65,000
01 ST 2ALE (KA E) 65,000 0 65,000
oz#ag AAMH FHH DMK 65,000
2N B FFuURs UR 450 450 0
308 AtXIEtHSO0IH 450 450 0
02 d+LR= 450 450 0
OBZUF 2Ir4E 450
AL FHALAL(ZD)N(EEY) 9,500 9,500 0
Il 4,750
& 4,750
202 O H 9,500 8,000 1,500
] 4,750
& 4,750
01 = LHOHI 9,500 8,000 1,500
OZ#ae ALY 0t 9,500
Il 4,750
& 4,750
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=
e

=EE

cel:

:Eaﬂﬂm
2 2O MHIA HB(2H/B2HAR)
9*%*“ oy & 22|

(Stel: &)

Husz |

-r/d @ﬂ! ':*-H(EIIHI) HI¥A}&1 E’é‘g Ofl &k o4 Ofl &Fou
Sz EuBaIAE(2D) 835,972 998,691 A112,719
b 769,847
= 116,125
308 X+XIEHH S OI & 885,972 998,691 A112,719
p] 769,847
= 116,125
01 AXSHBARES 885,972 998,691 A112,719
oOEAL HB2IAL 885,972
p] 769,847
= 116,125
o2Jl2 ZHEX H2AXNV(2D) 270,864 264,000 6,864
b 270,864
308 X+XI €M SOI & 270,864 264,000 6,864
b 270,864
NP =) 270,864 264,000 6,864
ooZIIB HHUBL B2IXY 270,864
ol 270,864
2OHIYES AA(21) 12,817, 141 11,706,508 1,110,633
g 9,565,030
= 3,252,111
308 XHXIEHRIS Ol 12,817, 141 11,706,508 1,110,633
pJ 9,565,030
= 3,252,111
01 HXSHB A RES 12,817, 141 11,706,508 1,110,633
©0i2l0l HLES 8,056,080
p] 6,012,000
= 2,044,080
OO0IZI0IE - RXIY - 2SHY S HYEE 1,380,200
p] 1,030,000
= 350,200
CERIRVEEE= 3,363,659
b 2,502,730
= 850,929
OBEZHY F&I| 2Y LAY 27,202
b 20,300
= 6,902
HUESSEMH 2H(2D) 240,840 218,300 22,540
g 240,840
308 X+XIEHH SOI & 240,840 218,300 22,540
p] 240,840
01 XESHALRES 240,840 218,300 22,540
CHYFSSSHEH 2 X8 240,840
] 240,840
2e2YY YRIZH(2D) 5,400 5,400 0
= 2,700
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=
I

FE B
=¥-TH

D EAE Y

A=2 BHASAHHIA MB(BH/BHAR)

2oy oy L e CER-EY

R g - qﬂ(ﬁuu) HS A - ﬂg% S8c | Him=s

- n : - & ]

301 EtE A= 5,400 5,400 0
= 2,700
= 2,700

01 M3IEEA 262 5,400 5,400 0
oA ZZEY LRJAXIZHI 5,400
= 2,700
& 2,700

DE2A2gdY(21) 32,240 34,600 22,360
= 16,120
= 16,120

201 2 Ht2 | 8,000 10,000 22,000
= 4,000
= 4,000

01 AtR22l bl 8,000 10,000 22,000
CE=ZAIUA 28Y o S22 M 8,000
= 4,000
& 4,000

301 et A= 24,240 24,600 2360
= 12,120
== 12,120

01 Al 2EE 2563 24,240 24,600 A360
oAz I 24 24,240
= 12,120
T 12,120

SHAIQITIIGHALH FAITAN & AZXRK(=2D) 156,600 151,200 5,400
= 156,600

308 AXIHFMSOIH 156,600 151,200 5,400
= 156,600

01 RIIXISHEAEEZ 156,600 151,200 5,400
OSHHIQITGHALA TIGHA MEXR2 156,600
= 156,600

2eE a2 NP DK(2D) 65,303 61,866 3,437
= 65,303

307 C12+0| ™ 65,303 0 65,303
= 65,303

02 QIZHEAAMNYEEE 65,303 0 65,303
ozdgY MBI W 65,303
= 65,303

ASTHES 29YED|BeIti2E=d(=21) 7,000 9,000 22,000
| 3,500
[ 3,500

201 et H| 7,000 9,000 22,000
| 3,500
T 3,500
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SN

B

eel:

SAYDY
e BATMHIA HB(2A/22A9AR)

2ty e o 24p (ctol &)
S EHH . O9(3) - HRAY - Ba= Has2
FERCET 7,000 9,000 2,000
oNZZEY I|BANS DKEH 7,000
bl 3,500
< 3,500
MSHYH 2SS9 1S ¥ EMNN(2D) 25,500 25,500 0
bl 17,000
= 8,500
308 Xt XI M SOl & 25,500 25,500 0
bl 17,000
< 8,500
01 HXISHHZ AR XS 25,500 25,500 0
OMEHY e Zosd 25,500
bl 17,000
< 8,500
MBHY OISLAXNA SN (2D) 11,400 11,400 0
b 5,700
< 5,700
400 BI2HRHEO| R 11,400 11,400 0
b 5,700
= 5,700
03 BI2HS et AL b 11,400 11,400 0
OMEH OISAAMA SSXY 11,400
9l 5,700
= 5,700
HISO%E NYHE SN (2D) 2,560 2,600 £40
9l 2,560
308 RHXIEHHISOI & 2,560 2,600 240
9l 2,560
01 HXISHZARES 2,560 2,600 240
OMESH2IMNY HISSoE NANE 2% X8 2,560
b 2,560
MEHY U 2 (S S 22 98 1S - =2 1,600 2,600 21,000
201 Lpte gt 1,000 2,000 21,000
01 AL 2t2It| 1,000 2,000 21,000
OMSEHY Ul HolEs= & - 20| A3 1,000
308 X XIEHHI SOl & 600 600 0
01 HXISHHZ AR ES 600 600 0
OMSHY Ul - US NS ¥ oS 600
2OINZYRKZHA AL NB(2D) 160,000 160,000 0
bl 160,000
307 BI2HO| & 160,000 160,000 0
9l 160,000
02 DI AAY B E 160, 000 160,000 0
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=
T

B

=

D BAFH

AEe BAASHUIA HB(LA/2AAZ)
2oy o 2 22

M- EB - ER(8) - HEAY - BES

T 0= NEUENES8 NESH B0 & | 160,000
5l 160,000
ojzmEAEY TEUA M 29(21) 41,000 58,500 A 17,500
90 41,000
301 YEHE A 41,000 58,500 A17,500
) 41,000
01 NBIEEH 252 41,000 58,500 A17.500
oYRZAY TEAAI|B 41,000
ol 41,000
cREELAY EEUA MH 22 (AT)(2D) 600 700 A 100
) 600
200 1Bl 600 700 A 100
0 600
NENET 600 700 A 100
OHY YW AT NEE 600
ol 600
BysiHsum 2oy a2 16,736 0 16,736
20 01 bl 16,736 0 16,736
NEDNET 16,736 0 16,736
OSYL ET(YACESAHHI) Ot 16,736
HuAT B HHIA RS 10,493,758 12,432,012 A1,938,254
= 95,000
ol 8,108, 170
= 2,295,588
=0l AYEA A 40,800 49,200 8,400
307 212H0I A 40,800 49,200 8,400
@ oNBANLDE 40,800 49,200 8,400
ORWHAEXE B O|SHE X 33,600
ONFE S5 U FINY B 7,200
HASZ AAAY X 80,000 180,000 0
308 XHXIEHHISOI & 180,000 180,000 0
01 X SHZHEES 180,000 180,000 0
oANHES BA 40,200
o=0zZE 2E 40,200
osuHs 2@ 40,200
oHTMIS HA 59,400
FELAZTAY Z& 40,300 49,500 £9,200
202 Of bl 3,500 3,500 0
NETET 3,500 3,500 0
OAULZA U NELASIANY £& 3,500
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A B
HH: e BAYSAHHIA HSB(BA/EHYR)
el BaA2Re MHIA WS

[ SA-FH . o9(30) - HENS - BYS  Oflaron
307 12+0| ™ 36,800 46,000 A9,200
02 SIZtBAAIHAE X 36,800 46,000 A9,200
QIIIEEA=EIMEY XA 36,800
KNSAZHZZAL ZAIRA RS2 (21) 470,029 403,723 66,306
I 470,029
308 At XIS SO0l & 470,029 403,723 66,306
J| 470,029
01 IXSHHMBAEEZ 470,029 403,723 66,306
OXNHAIS HAEAMN XA 470,029
J| 470,029
KNEAE SEAASTIANG(ZD)(HE) 201,000 203,000 A2,000
I 100,500
= 100,500
201 29| 3,000 3,000 0
I 1,500
< 1,500
01 ArR222/Hl 3,000 3,000 0
OSEHLBIMNY F& 3,000
I 1,500
& 1,500
202 048l 8,000 10,000 A2,000
I| 4,000
== 4,000
01 =W 8,000 10,000 A2,000
OSEHLBIMNY 2 8,000
7| 4,000
== 4,000
307 eiz2o| & 190,000 190,000 0
Il 95,000
3 95,000
05 QIZtRAE = 190,000 190,000 0
OSEALSIAMNEY XA 24 190,000
| 95,000
& 95,000
XA SEALSTA(Z10) 5,080,611 6,851,017 21,770,406
| 4,233,842
T 846,769
308 XX A SO0l H 5,080,611 6,851,017 21,770,406
J| 4,233,842
T 846,769
01 AXSHBAEES 5,080,611 6,851,017 21,770,406
OEZHA SEUHLSIAY XA 5,080,611
| 4,233,842
& 846,769
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BA SAF L
M A=2 BHASMHIA AS(2A/2AYR)

Chel: HMAABA| AHIA HB (CHsl:me)
HA - B E9(3) - NEAY - BES e S58 b Hu=a
ES0H2SHA LA ZE L MOjAEEI|EA 256,917 185,499 71,418
X&(=1)

I 228,370
T 28,547

308 MUXIHH SOl 256,917 185,499 71,418
I 228,370
=S 28,547

01 AXSHHBAEES 256,917 185,499 71,418
QaA=Z0+2A LA L MOfEEI|IZE 256,917
| 228,370
& 28,547

2202 FROIE AL X(=21) 27,299 23,255 4,044
| 27,299

308 XXM SO0l & 27,299 23,255 4,044
| 27,299

01 RXHHMBLAEES 27,299 23,255 4,044
Ooz=20is==T A ERO0F H&H K& 27,299
| 27,299

HR0F LI HUAAH XA (=1) 6,064 5,281 783
| 4,851
=S 1,213

301 YErE A 6,064 0 6,064
| 4,851
& 1,213

01 ALl EE A 202 6,064 0 6,064
LA FY HAHI 6,064
| 4,851
& 1,213

AROIAZA EAHA KABL2HI(22) 18,000 18,000 0
| 18,000

308 X+XI EHHI SOl & 18,000 18,000 0
Il 18,000

01 AXSHMBAEES 18,000 18,000 0
OuLZ & EEH| 18,000
I 18,000

dE ZE - 29H(21) 152,000 144,800 7,200
= 95,000
= 57,000

308 AXIEHMSOIA 152,000 144,800 7,200
= 95,000
< 57,000

01 AXEHHBAEES 152,000 144,800 7,200
OZoFMRLINZHEH 2N 152,000
= 95,000
< 57,000
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S A

el o

21
Hu: Be
(=]

SAFHY
=2 PAYSAHEIA MB(EH/EH=)
BMALZE AHIA HMB CER-)
2A -2 G9(80) - NIEANY - BES O Ao HRE2
FAEH 23T AE IF(21) 123,200 159,580 A36,380
Il 104,000
== 19,200
403 XXM S 2018 123,200 159,580 236,380
Il 104,000
[ 19,200
01 AXSHHA=EEER 123,200 159,580 236,380
O7LEH SZULe} NERS 123,200
Il 104,000
== 19,200
CHE3HE 22 A88d X 50,000 50,000 0
307 2I2t01 A 50,000 50,000 0
02 QIR AMAIYEE R 50,000 50,000 0
OU=EEIE 28 A2AT XY 50,000
TAMSSASEXNAMEIA (D) (EE 62,000 67,006 25,006
Jl 31,000
== 31,000
201 L Br29H| 20,000 17,926 2,074
J| 10,000
== 10,000
01 AtS2t2iH 20,000 17,926 2,074
OXIFAE=HMY =& 20,000
J| 10,000
< 10,000
202 Oid| 2,000 3,000 21,000
Il 1,000
= 1,000
01 =LHObI 2,000 3,000 21,000
OXNIAZSHAY =T 2,000
Il 1,000
=S 1,000
301 et AS 40,000 46,080 26,080
Il 20,000
T 20,000
M IIEtE2 &= 40,000 46,080 26,080
o3gEEH 2 40,000
Il 20,000
I 20,000
XM SAZSHAXNAMEIA(SD) 3,048,967 3,313,358 A264,391
I 2,540,806
S 508, 161
308 X XIEHSOIA 3,048,967 3,313,358 £A264,391
Il 2,540,806
== 508, 161
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SN 2ARHY
HHY: e PATMHIA HMB(2A/2AR)

e B2 AdlA W3 (et @)
. Eel(8) - MRAY - Bas | oee | BBE | wpsw
01 I}ilE"ﬂl%‘QE.’E%V 3,048,967 3,313,358 £264,391
OXGMNEBSHSAX B A2 3,048,967
] 2,540,806
= 508, 161
HNAEE SSHASXNEAM(=1) 293,984 260,715 33,269
Il 293,984
403 TtXISHHSH=0IH 293,984 260,715 33,269
) 293,984
02 BJ 2SO HEt 2= A A 293,984 260,715 33,269
OMAEE SHIZ XA 293,984
Il 293,984
olsad Xty FUXA 110,000 428,450 A318,450
402 2I2tXH= 01 ™ 110,000 428,450 £.318,450
01 QIZI =2 AL SR (M THE ) 110,000 428,450 £.318,450
oz FY XA 110,000
& = FH PR 272,000 0 272,000
402 @12t XH= 0l A 272,000 0 272,000
01 BIZt =AML R (RHMITHE ) 272,000 0 272,000
odd A= FHl FYNJ 272,000
DHY EAANGMY (=) 60,587 0 60,587
2 50,489
[ 10,098
308 XX EHSOIA 60,587 0 60,587
Il 50,489
S 10,008
01 AXSHBAEES 60,587 0 60,587
OZHte EAAHONAEY 60,587
] 50,489
=S 10,098
AEOYR EH2ACMA B 27,453,318 7,674,201 19,779,117
= 2,356,224
o) 21,108,695
= 3,988,399
FAZAMNY FA 74,604 66,540 8,064
202 O H 7,500 7,500 0
01 = LHOIHI 7,500 7,500 0
OAENIYR a2 =X 7,500
307 2iz2t01 ™ 18,720 18,720 0
02 IZBHANLEE 18,720 18,720 0
O AIUALFNME SAL HR2HE 18,720
308 AtxI &Ml SO0l A 48,384 40,320 8,064
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SN 2AEUY
HH: e BASAUIA MB(2A/2A9AR)
;AT dHaAHA o

—— - — m——
R ﬂ%(zzl)ﬂ) HI“‘A}‘.’J . pus ol S HimEE
o Sl ol e R e
01 I}Ilqﬂl QE x3 48,384 40,320 8,064
OAZ FHAEXUH & SSEHLSEXA

HE BAR MR 48,384

ZAFAMALYSRNLEH K& (=12) 820,800 792,000 28,800
Il 410,400
S 410,400

307 212+01& 820,800 792,000 28,800
2l 410,400
S 410,400

05 QIZtRIE = 820,800 792,000 28,800
OBAY FAALSXME 2 820,800
2l 410,400
& 410,400

IIZFAAA=EXHH X (21) 1,900,800 1,639,680 261,120
Il 1,584,000
S 316,800

308 X XIEtMS0I™ 1,900,800 1,639,680 261,120
7l 1,584,000
S 316,800

O UXESHBHEES 1,900,800 1,639,680 261,120
OJ1z8 FAAL=XME 28 1,900,800
Il 1,584,000
=S 316,800

OtszEAE FASBAAMY(ZD) 270,000 270,000 0
Il 225,000
S 45,000

308 AHXIEHHI SO0 A 270,000 270,000 0
Jl 225,000
S 45,000

01 RHXESHBAEES 270,000 270,000 0
O0ts - F4H FABAMNY XL 270,000
Il 225,000
& 45,000

MBISEXBRE FAAZSE(F1) 32,000 32,000 0
Il 32,000

307 212t01™ 32,000 32,000 0
Il 32,000

02 B MMHE X 32,000 32,000 0
OABIEXI SR FAHLSA X 32,000
Il 32,000

ESZCISEXNYMH XN (22) 279,000 272,160 6,840
= 232,500
S 46,500

308 AHXIEHSOIA 279,000 272,160 6,840
= 232,500
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SN 2AFHY
HH: Aes DAABAHIA HB(2A/2AAR)
SOl AEOIZE YRR =

 RA - S(3) - NRAY - BEs | oar
=5 PN = 279,000 272,160 6,840
OSSZ2SHANAMH 2% 279,000
= 232,500
= 46,500
RHAOY ¥ HAABSTAY(2D) 366,000 366,000 0
bl 305,000
[ 61,000
308 XX EtRI SO & 366,000 366,000 0
7l 305,000
= 61,000
01 RXSHHBABES 366,000 366,000 0
ORtAtNY ¥ FHAAZSTAY X 366,000
p] 305,000
[ 61,000
Rarole o MAESALY ' 424,000 413,600 10,400
307 QI2t0| & 90,000 90,000 0
02 SIZHHAAIE X 90,000 90,000 0
OZATACLME A X 90,000
308 XX K S0 & 334,000 323,600 10,400
01 IXSHBAEES 334,000 323,600 10,400
OXtOLME 29 X 99,000
ORHAIGIE AIHl ¥ MEoldd Xgl 235,000
MEAZ L MHES 235 ALY 352,152 291,600 60,552
303 ZTAS 12,000 12,000 0
01 ZA3 12,000 12,000 0
OXAGILAY 24 A2 Z4& 12,000
307 I2H0| ™ 38,400 48,000| 29,600
02 QIZHHAAYER 38,400 48,000 A9,600
OXHANY L MHEZE SSAY 38,400
308 XX EHHI SO & 301,752 231,600 70, 152
01 IXESHBAEES 301,752 231,600 70, 152
OMIAIZ OISUs ZSHAY 301,752
ACEZESSRRIAY ARMER(2D)(EEF) 69,412 73,750 24,338
J| 34,706
[ 34,706
307 QI2+0| ™ 69,412 73,750 £4,338
p] 34,706
[ 34,706
05 It e 69,412 73,750 14,338
OALEASE (HREIAY NRYH 29 69,412
J| 34,706
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SN SAYUY
Hu: Zdse PABHHIA MB(2A/2AS)

Sl AEOIYN FyRelH s (crel: MRl
B P ,
-rza 3. qﬂ(smn kll A}g -Lﬂgs, - owo" . &g% HR=2
== 34 7
AueEoeURASIAMY AXNMER(2D) 586,010 644,489 A58,479
J| 492,235
= 93,775
308 A XIEHSO|E 586,010 644,489 A58,479
| 492,235
° 93,775
01 AIXSHZBAEEZ 586,010 644,489 AB8,479
ODNEY - &Y SEXUCAY 562,650
2| 468,875
= 93,775
OBt &2 L HAXA F2I W= 23,360
J| 23,360
AAEHE AIY 2H9(=21) 192,000 192,000 0
= 128,000
= 64,000
308 X EHMESO0|E 192,000 192,000 0
= 128,000
== 64,000
01 IXSHHZBAEEXZ 192,000 192,000 0
OXNSAS LX2AZS AEALY 192,000
= 128,000
= 64,000
29 OIEIdA NedBMAYH 29(21) 390,000 380,000 10,000
J| 195,000
== 195,000
307 212to| & 390,000 380,000 10,000
J| 195,000
= 195,000
05 QIZIREZ 390,000 380,000 10,000
OZ4 OIEIl - 84 NRIFLPHH 299 390,000
J| 195,000
= 195,000
FOLEHRL 2ES A KR 23,770 26,400 22,630
308 AXIEHSOIE 23,770 26,400 22,630
01 AXNEHBAEEZ 23,770 26,400 22,630
02ts ¢ o=zg8 & 23,770
XIOjetAlMIE 2R (2D) 16,632,000 0 16,632,000
J| 15,840,000
== 792,000
308 XX ESHSO0IH 16,632,000 0 16,632,000
J| 15,840,000
== 792,000
01 AXEAHBABEEZ 16,632,000 0 16,632,000
OXIDHetAME 2H XS 16,632,000
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S BAF Y
M. =2 BHYZ AHHIA M2B(2H/EAH2AZ)
el MUY Ag2edA &2 (e &&)
L_«s/d CHH . O9(3) - NIEAY - BaS Oflakos D HI D=2t
B 5,840,000
& 792,000
XOEXI222d XN|¥(=212) 609,826 564,024 45,802
| 508, 188
& 101,638
308 AHXIEHHM SO0l 609,826 564,024 45,802
| 508, 188
& 101,638
01 A SHHBAEEZ 609,826 564,024 45,802
OXxIz22iHl XI& 609,826
J| 508, 188
T 101,638
ZAXMNME 22 (=22) 608,350 600,062 8,288
| 425,845
< 182,505
307 g12+ol& 608,350 600,062 8,288
J| 425,845
== 182,505
05 2zt &3 608,350 600, 062 8,288
OZYXMEH 29 608,350
J| 425,845
& 182,505
XOHEX HWE L SSAMY 104,540 104,540 0
308 XXM SO & 104,540 104,540 0
01 XX SHHBAEEZ 104,540 104,540 0
QeXMgZzd 24 104,540
X2l AY K& 30,000 27,000 3,000
308 AXICHK SOl & 30,000 27,000 3,000
01 AXEHBALEEZ 30,000 27,000 3,000
OXIHEX 2285 X 30,000
gAX0MES2E 29 9,600 9,600 0
308 XXX SO0l d 9,600 9,600 0
01 AXSHHBAEES 9,600 9,600 0
OXIHex =2z K& 9,600
XOH=Ql A0 AS 9,000 9,000 0
308 XtXISHHSOIA 9,000 9,000 0
01 XX HHBAEEZ 9,000 9,000 0
OXIHce AF0e tHsl2X I E=XA 9,000
SHEEX o2H XNA(=21) 1,267,585 876,756 390,829
| 1,056,321
= 211,264
308 XX &I SO0l ™ 1,267,585 876,756 390,829

- 516 -




SN 2ARHDY

FH: A2 BEHIYSAHUIA HMB(BA/2292)

Sl MFOYE FBeHA & LR
| ®H-3A-ESE) - ATA - Bes ol 4o e HRE2
T — T 7%,
3 211,264
Ol AIXSHBAEES 1,267,585 876,756 390,829
oHABEN A2 X 1,267,585
J| 1,056,321
== 211,264
2503 29 7,000 7,000 0
201 ¢Er24y| 7,000 7,000 0
01 At 22l 3,000 3,000 0
ossoe 29 3,000
02 3323l 4,000 4,000 0
oORHolR *BAY 4,000
AEZR HEHA HE(ID)(FSABBE) 2,304,869 0 2,304,869
= 1,995,724
= 399, 145
308 AHXIEtMS0IA 2,394,869 0 2,394,869
= 1,995,724
= 309, 145
Ol AIXESHHBHEES 2,394,869 0 2,394,869
oysAZBeI MY 2,304,869
= 1,995,724
S 399, 145
BYSSHHI (2AF YD) (OIEHIIEN) 120, 167 116,341 3,846
Il 40,805
= 79,382
el 2| 81,610 76,826 4,784
Jl 40,805
= 40,805
SHAZFSBLANH (S D) 34,406 31,622 2,784
] 17,203
< 17,203
101 @I H] 34,406 31,622 2,784
Il 17,203
== 17,203
03 RIAAZZRES 34,406 31,622 2,784
owL ZFHBINY 2] 34,406
Il 17,203
=S 17,203
NYUES £ 04YS ASAINES XA(2D) 12,204 12,204 0
Jl 6,102
& 6,102
101 124 H| 12,204 12,204 0
Il 6,102
=S 6,102
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AN BHIML
o wESAAH (SAZHY)(IE/IIE)
B9 ey (Etel: &2
2A - (CRIEVEI-REFE of &t G ClimEEl8
] CEEECC 12,204 T 12,204 0
OUYEE % Ol4ES ASTAR HEH| 12,204
| 6,102
= 6,102
NAS SEALEEAL(2D) 35,000 33,000 2,000
| 17,500
= 17,500 |
101 eI 2AH| 35,000 33,000 2,000
| 17,500
= 17,500
08 PIAA2ER B4 35,000 33,000 2,000
OLEY W2HABAAY Q1A 35,000
] 17,500
< 17,500
= 38,577 39,515 £938
2AE2Y Jgdl 38,577 39,515 A938
201 QeSS bl 22,977 26, 195 £3,218
01 Ar2Z 2| 22,977 26, 195 £3,218
oRNEY AR 22,977
202 01t 1,400 9,120 2,280
NETET 1,400 9,120 2,280
o=ASY 2ot 11,400
203 & 2 E Y| 4,200 4,200 0
e e 4,200 4,200 0
©252! 0I5} 350,000 * 128 4,200
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